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£ A FER%5R $ 1,000
Ai $ 200
B 2 $ 4,000
X 2R $ 1,500
R AR AR $10,000
TEHE $15,000
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Notice: Please list your computation in details on answer sheet; scientific or financial calculators

can not be used; round off to 2th decimal place.

1. Find the derivative of each function. (24%)
(@) f(x)=In(x*+1)* (6%)

(b) f(x)=In(e*+e™) (6%)

(c) f(x)=e' +x°+Ine* +In(5x) +ex (6%)

(d) f(x)=e"In(x+1) (6%)

2. For the cost function C(x) = x + 10+ x + 9 where Cis in dollars and x is the number produced
in hundred, use C(7)and MC(7) to approximate the cost of producing 620 items. Give an
interpretation of the marginal cost value. (12%)

3. Find each definite integral. (24%)

(@) [ etdr (8%)
8@%/;
®) [li=de (8%)

(©) ['xGe+ay?dx (8%)

4. A company’s marginal cost function is MP(x) = 21x’ — 6x* +50, where x is the number of
units, and fixed cost are $3000. Find the profit function. (10%)

5. Find each multiple integral. (30%)
@ [ [ yeraxdy (10%)

(b) _'O'j_yy(x+ y)dxdy (10%)

© [ [ [ 222 ddydz (10%)
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